Math 3200 - Cumulative Review #2

Working in groups of 2 complete the following review. Only one answer sheet per group needs to be submitted. Record answers on scantron provided.

1.
If the mapping rule [image: image2.png](xy) = (32— 1,-y+3)



is applied to [image: image4.png]


, what is the 

transformed equation?


A.
[image: image6.png]y=—f((G+1)-3




B.
[image: image8.png]f(2(x—1))+3








C.
[image: image10.png]



D.
[image: image12.png]y=—f((G-1)-3




2.
What is the mapping rule that is applied to [image: image14.png]


 to obtain [image: image16.png]y —1=f(2x— 6)



?


A.
[image: image18.png](xy) = (jx+6y+1)




B.
[image: image20.png](6y) = (jx+3y+1)





C.
[image: image22.png](xy) = (jx+6y-1)




D.
[image: image24.png](xy) = (3x+3y-1)




3.
If the point [image: image26.png](3.7)



 lies on the graph of [image: image28.png]y=g(x)



 , which point lies on the graph of              
[image: image30.png]


?


A.
[image: image32.png](—3,14)





B.
[image: image34.png](—6.,7)





C.
[image: image36.png](6,—7)





D.
[image: image38.png](3,—14)




[image: image1.png](xy) = (32— 1,-y+3)



4.
The graph shows a transformation of the graph of [image: image40.png]y = |«



.  Which equation 
models the graph shown below?


A.
[image: image42.png]y—2=|x—6l







B.
[image: image44.png]y—2=|x+6|





C.
[image: image46.png]y+2=|x—6l





D.
[image: image48.png]y+2=|x+6l|




5.
Describe [image: image50.png]y+2=-3f(x—3)



 as a transformation of  [image: image52.png]


.


A.
Translated 3 units right, 2 units down, stretched vertically by a factor of [image: image54.png]


, 


and reflected in the x-axis.


B.
Translated 3 units right, 2 units down, stretched vertically by a factor of [image: image56.png]


, 


and reflected in the y-axis


C.
Translated 3 units right, 2 units down, stretched vertically by a factor of 3, 


and reflected in the x-axis


D.
Translated 3 units right, 2 units down, stretched vertically by a factor of 3, 


and reflected in the y-axis
6.
Which of the following is a polynomial function?


A.  
[image: image57.wmf]5
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B.  
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C.  
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D.  
[image: image60.wmf]2

()3

fxx

=-


7.
 Which of the following represents a polynomial with odd degree, a negative


leading coefficient and having a root of multiplicity 3?
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B.  
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C. 





D.

8.  
Which statement correctly represents the synthetic division shown?  
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)

(

)

2

()6214

Pxxxx

=+--+
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C. 
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D. 
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9.  
 What is the remainder when 
[image: image65.wmf]21
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 is divided by 
[image: image66.wmf](

)

1

x

+

?

A.  -2 


B.  -6 


C. 4 


D.  8

10.  
Determine the value of  
[image: image67.wmf]k

 if 
[image: image68.wmf](
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 is a factor of 
[image: image69.wmf]3
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A.  -5 


B.  -3 


C.  5 


D. 6

11.  
One of the factors of 
[image: image70.wmf]32
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[image: image71.wmf](

)

4

x

+

 .  What are the remaining  

   
two factors?

A.  
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B. 
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C.  
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D.  
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12.   

[image: image80.wmf](
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is a polynomial of degree 4.  If 
[image: image81.wmf](

)

0

Px

³

  only for  
[image: image82.wmf]11
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, then which 

 
statement must be true?  

A.

[image: image83.wmf](
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 must have all non-real roots.

B.
 
[image: image84.wmf](
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 must have 4 different real roots.

C.
 
[image: image85.wmf](
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 must have 2 real roots, each of multiplicity 2.

D.
 
[image: image86.wmf](
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 must have a negative leading 
13.  
Which of the following functions, written in factored form, best represents the 

   
graph and the table given?

	x
	y

	-3
	0

	-2
	-1.67

	-1
	-3.56

	0
	-3

	1
	0

	2
	2.778

	3
	0
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A.  
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B.  
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C.  
[image: image89.wmf](
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14.
Which graph best represents a cubic polynomial with 
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 and   
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[image: image94.wmf]2
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B.  
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D.  
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15.
Which of the following represents the graph of 
[image: image95.wmf]234
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?


A)  







B)
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16.        Given that 
[image: image96.wmf]()

fxx

=

 has been stretched horizontally by a factor of 
[image: image97.wmf]1

2

, reflected across   

             the x-axis, moved left 3 units, and moved up 1 unit, which of the following equations 

             represents the transformed image?


A)  
[image: image98.wmf](
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B)  
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C)  
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D)  
[image: image101.wmf](
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17.   
Given 
[image: image102.wmf]()
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, which of the following graphs represents a transformation  
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A)                                                                                 
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C)                 





18.  
What are the domain and range for 
[image: image105.wmf]1
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19.  
The graph of 
[image: image110.wmf]()
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 is shown in the graph.  Which of the following equations could


represent the equation for 
[image: image111.wmf](
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A)  
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B)  
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C)  
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D)  
[image: image115.wmf](

)

2

4

fxx

=--


[image: image172.emf]x


y




x

y

20.  
The graph of 
[image: image116.wmf]()22
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 is given.  What points would be invariant points when considering the graphs of  
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D)      no invariant points


21.  
The graph of 
[image: image122.wmf]()
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 is given. Which of the following would represent the graph of 
[image: image123.wmf]()
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?
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22.  
Given the graph of 
[image: image124.wmf]()
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 shown, which of the following equations, when graphed with 
[image: image125.wmf]()
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,  would form a parabola which opens sideways?


A)  
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B)  
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C)   
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D)  
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23.   
Given  
[image: image130.wmf]2
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D)   no invariant points

24.    
If 
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25. 
Use the graph provided to solve the equation,  
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26. 
Using the graph provided, what is the solution to the equation  
[image: image147.wmf]()4
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A)  
[image: image148.wmf]5

x

=




B)  
[image: image149.wmf]9
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C)  
[image: image150.wmf]21
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D)  no solution
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